Due Tues, Sept 27

2011 PreAP Two Dimensions 8

'r-dil'- O X:diT- 1. * A projectile is launched at 30° going 110 m/s. Calculate the time
\'rj = O O \"j = in the air and how far away it lands. You may use the diagram if
Vi= Vi= you need to. (Full key on back: don’t just copy: learn.)
ay = ax =
Ay = O O Ax =
Vy=
110 m/s
30°
Vx = O
< ~,
= 5 =
'jdif- Xr‘dil' 2. * An object is launched horizontally from the top of
\‘ri - Vi = an 8 m tall ledge going 30 m/s.
V= 30m/s Vi=
ay = - Ay =
Ay = O Ax =

8m 1

H
I

>0

x-dir, 3. An object (say “Jar Jar Binks”) is launched at 45° and 32 m/s.
How high does he go?

32 m/s
45°
V O
9 m/s 4 mis 6 mfis 10 m/s
®H—> 4mis O—=> oO—> ﬂ 10 mis
®—> LI 4
2m 15m om om @ 30°

4. Two objects are shot from
horizontal platforms as shown.
Which ball (A or B) is in the air
for the most time?

cstephenmurray.com

5. A. Which ball (C or D) takes the 6. Ball A or B above?
most time to hit the ground? A. Has the greatest y-velocity?
B. Which ball has the greatest B. Will go the highest?
range?
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y-dir. . x-dir,
Vi = ‘Dg) is O Vm G337 wp projectile is launched at 30° going 110 mv/s. Calculate the time
V¢= ~5% H/%ﬂ i O Ve= q5.32 )z in the air and how far away it lands. You may use the diagram if
a, =4="1" fs g, =CMisE vou need to. (Fuil key on back: don't just copy: leamn.)
A}f —_ 7 A.\ - S’T
t= o o t=/].23=c Ly i
Lt = e g =M+ 27F D:ST_
110 m/s o e =453 (1l2)
—5 =55 1 4
i - _'a? =zt = JD é? - el
30° M= e
s S diiees =1
Vx=||0eos3e = 95.3"s O
< —
< > =
y-dir. x-dir, An object is launched horizontally from the top of
V.= onls V.= 30"s :
le: " —— V‘r: i ,,/25 n 8 mtall ledge going 30 m/s.
a,= _ ay= O*+vs g
A\_\f = _Hin O O Ax = %5 s {ﬁ l .
t= t=| 2%5= : B =<7
N O | Ly =\ st =157
Equation: o TR
8m1 O £ ‘
?7m
V_ I< >0
y-dir. " x-dir. 3. An object (say “Jar Jar Binks™) is launched at 45° and 32 m/s.
‘\vji = ngé /s xi = How high does he go?
= =5 = : oL
2t 0Ro only = g -din guest
?Z:;: N gt Uy =R AT = mRE W
O 0O bierz %
z s £
32 m/s Ve "=\, +2207
C),—,?/?‘Sz—‘q‘é{?
A’ @) _glo.Fé =196 %Y
Vv s
Zée =2
9m/s 4 mis 6 mfs 10 mfs
9 4 mis @9 (ID9 10 m/s
®—> b T
2m 15 m 2m 2m @ 30°
4. Two objects are shot from 5. A. Which ball (C or D) takes the 6. Ball A or B above?

horizontal platforms as shown.
Which ball (A or B) is in the air
for the most time?

CF?;M 5ot
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most time to hit the ground? A. Has the greatest v-velocity?

B. Which ball has the greatest
range?

B. Will go the highest?
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